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EXERCISE TEST -2 [i:&&%))

2 Mark Questions 5X2=10

. z=x+ iy ereflev, Im(3z + 4z — 4i) STHLLEF W 6T (QF6U6US) 6ULq.61 6m60TE
& IT600TS5.
If z = x + iy, find the following in rectangular form. Im(3z + 4z — 4i)

z; =2 —i MO z, = —4 + 3i eT6vl6v 2,2, IDMHMILD j—:-c&r GBI IOMENMS &IT6T0TS.
If z; = 2 — iandz, = —4 + 3, find the inverse of z,z, and z—l
2
. B&&ETERID LTS Blmeys : Re(z) = =2 Hmib Im(z) = =
Prove the following property. Re(z) = Zzﬂ and Im(z) = %

. (1—1)3 — (i—:)gg QEG:lsuas euLg.aflev a'r@as.
1-i

Slmpllfy(”l)3 (1_+z) into rectangular fprm.

. z;=3—-2i0MMID z, = 6 + 4i Gbe'ﬂGbZ—l -3 QF6US aULg.6T 6V &ITEUTS.

Ifzy, =3—-2iandz, = 6 +4i fmd |n the rectangular form.

5 Mark Questions 3X5=15

. MQIGLIEB (i (2+ n/_) +(2- n/_) ® e QO eTevor LOHMID (..)(19+9‘)15 _

(18:2’,.) @@ @@msub & (D) L1 60)60T 6T600T

Show that (i) (2 + iV3) " + (2 — iv3) s real and (i) (1‘”"‘)15 - (%)ﬁis purely
imaginary.

. &EVLIQILIGUOTS6IT u, v, LnMMILD w 3L, Wemel % = %+% 6TEOTMEUTM QS TLTL
UGSSLILULB6Tengl. v =3 — 4i LLHMID w = 4 + 3ieTedl16VL u -3 HMTLR S W 6dr
(QF6u6us) auLg69l6V 6T(WD S518.

The complex numbers u, v, and w are related byi = i+ % Ifv=3—-4iandw =4+
3i, find u in rectangular form.

. Nedreu(peueTeUMEmM Bl MIeYSs :

M) (2+iv3)" - (2-iv3)" aréirusI weasIb SHLUEMET

(i) (19 71)12 + (270__65ii)12 6T6OT LIS QDU 6T6TOT.

Show that (i) (2 + i\/§)10 —(2- i\/§)10 is purely imaginary (i) (19_,7i)12 + (ZO_Si)lz is

9+i 7—-6i
real.
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